
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets


 

                                      
www.cuemath.com 

 

 
 
 
 

1. Determine the following equation has one solution, no 
solution, and infinitely many solutions. 

    2 - 3(x +4) = 3(3-x) 

 

2. Solve the system by graphing. the whether the system 
has one solution, no solution, and infinitely many 
solutions. 

                     y =3x -7 

                     y = -x +7  
 

   

 

One Solution No Solution Infinite Solutions Worksheet 
 
 
 

https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets

	00-1111-1aaaaa-aaafront-finalfinal.pdf
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page


	Button1: 
	Button2: 


